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ONSOZz
Degerli Ogretmenler ve Sevgili Ogrenciler,

Galata Egitim Kurumlari, 2005'ten bugiine YOS, SAT ve TOMER sinavlarina hazirlanan ogrenci-
lere egitim ve Ggretim faaliyetlerinin yani sira rehberlik hizmetleri de veren bir egitim kurumudur.

Kurumumuz, tlkemizde YOS'e girecek olan dgrencilere ve danyanin farkli yerlerinden Glkemize
gelen uluslararasi 6grencilere YOS'e hazirlanma asamasinda su hizmetleri vermektedir:

Ders calisma teknikleri,

Universite ve béliim bilgileri,

|

— Basvuru ve tercih asamasinda rehberlik hizmetleri verme.

Ogrencilerimizin bu asamalardan dogru yénlendirmelerle gegerek adim adim basariya ulasmasi
saglanmaktadir.

Elinizde bulunan Matematik 1 Konu Anlatim Kitabi, tiniversitelerin son yillarda YOStte sormus ol-
duklari yeni tarz sorulara gére hazirlanmistir. Bitiin konulari kapsayacak sekilde her tarz sorudan
hazirlanan kitabimiz, sizleri bagariya ulastiracak ve sinavlarda karsiniza gikacak sorularda sizlere
pratiklik kazandiracaktir. Dederli 6gretmenlerimize ve sevgili égrencilerimize faydali olmasi dile-
giyle. '

FOREWORD

Dear teachers and students:

Galata educational center is an educational insttitution that provides guidance services to the
students who have been preparing for YOS, SAT, and TOMER exams since 2005.

Our institution is a hub of attraction for students from all over the world, for it familiarizes students
wiht study techniques, provides information and details about universities and depotmants, and

offers guidance services during application and preferences for the universities. And by doing so,
it ensures success for our students.

The questions in the Mathematics 1 lecture were prepared correspondingly, through the years of
experience to help you get a ferfect score on the exam. All the questions are parallel and identical
to the YOS exam questions. It covers all the topicswhich are in Math 1. We hope to be beneficial
to our valuable teachers and dear students.
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TEMEL KAVRAMLAR
BASIC CONCEPTS

Temel Kavramlar (isiem Onceligi)

1. Aymi isaretli Sayilan Toplama

Toplama

(Adding Numbers with the Same Mark):

Sayilar toplanir ortak isaret yazilir.

The numbers are added together and the common sign
is written.

e 3+54+7=15

e-3-5-7=-15

e -10-20-30-40=-100

2. Zit isaretli Sayilari Toplama
Adding Numbers with Opposite Signs

isaretine bakilmaksizin, bilyiik sayidan kiigiik sayi ika-
rilir. Biiyiik sayinin isareti yazili.

The smaller number is subtracted from the larger number, re-
gardless of its sign. The sign of the big number is written.

e5-3+2=4 ®19-29=-10
e -17+10=-7 ®21-32=-11
e —41+25=-16 e -5+2=-3

©-3+5-7+6-10==20+11
=-9

Zit isaretli ayni sayilarin toplami sifirdir.

The sum of the same numbers with opposite signs is zero.
-10+10=0
—41+41=0

Multiplication - Division

Garpma - Bolme

isaretlerin Garpimi

Multiplication of Signs
+et =+ —1-=4
to—== +i+=+
—et = —i1+=-
—e—=+ +i1-=-

Ayni isaretli sayilarin carpimi veya boliimii pozitif zit isa-
retli sayilarin garpimi veya boliimii negatiftir.

The product or division of numbers with the same sign is posi-
tive, and the product or division of numbers with opposite sig-

ns is negative.

Sira Sizde It Is Your Turn
1. +5+10+11="7
2, -5-7-10="7
3. 15-10+13-7="7
4, -3-54+48+9=7
5 -11+11+21-21=7
6. (- 101 + 99) + (39 - 37)
7. ~10-15-10+13+12="7
8. -20-30-50="7
9. (-7)(-8)(-2)="7
10. (-2)-(+3):(-5)="?
14, =120 140 _,
—20  -14
12, =144 169 _,
#1218
13, *25 . 15 _,
=5 =5
14__4<—21 12>_9
B =4
18, — 5.4 + =925 28 g
+13 " -14

S~

YOS

AN\

21

O—-=3 ® 5'4=2O
7
.%:3 o (-5(-3)=15
.‘:_:;3: 5 o (+2):(-7)=—14
(= 9)+3) == 27
ot

2 +%+(—5)-(-2)=(-7)+(—3)+(+10)=0

-3(-4)+5-12:(-3)=12+5+4=+21

+12 +4




—
1)+26 2)=5? 3) +11 4)9
5)0 6)0 7)-10 8) -100
9)-112 100430  11)-4 12) -25
13) -8 14)-16  15)-22

Cikarma isleminde isaretier garpilarak soru diizenlenir. Son-

ra toplamanin kurallan kullanilarak sonuca gidilir.

In the subtraction process, the question is arranged by multiplying

the signs. Then, using the rules of addition, the result is reached.

© -(-3)-(+5=?

+3 -5 =-2

o (+5)—£—/7)+\(—/8)
+5 +7 -8

- (-4="

+4 =8

e —(-6)-4+5=+6-4+5=7

¢ —15-(=5)-(+7)=?

=156 45 -7

=-22+5=-17

o —13-(7-(-3-5))+5=7

-13—(7—&/8))+
-13 - (7+8)+5

~13-15+5=-28+

lglem Onceligi

1.

Uslii ifade varsa acilir.

5

5=-23

¥ Iransaction Priority.

If there is an exponent, it will pop up.

Parantez ici

In parentheses

Garpma veya bolme iglemi

Multiplication or division operation

Toplama veya gikarma iglemi

Addition or subtraction process

Biitiin islemler soldan saga dogru yapilir.

All operations are done from left to right.

10-

1+10

=3)(-

100 :1
—

(-2)-4+5=-8+5=-3

0-10=10

10 =100

:(1+10)=7

| SN

o (-28)

10 _21
1 11

14): (- 14)-(-2)?

(-14). (+4)

=7):
R

1
2

4)=2

H+7(-2)=+12+(-14)=-2



TEMEL KAVRAMLAR
BASIC CONCEPTS

Sira Sizde

It Is Your Turn

5. -10%-(-100)=?

6. 12-[9-(-4-5)]-(-7)=?
7. #8p-5-7--4]=?
8. -121:11.11=7

9. 10+1:11=7

10, =ity _,
5-(-1)

11. 49:(—7"}'71 =9
13.(_2__3>
m 7

12. [(~ 400) : (- 20) - (- 196) : (+ 14)] : PE=) =7

13. [(-8)-(-5)]:4-=—=7

01 2)28 3)-8 4-8
5)0 6)1 7)-11 8) 121
910 10-L 110 12)2
1 >
1
13+
)3

A Y65

Rasyonel ifadelerde Sa-
delestirme ve Genigletme

Simpliting and Expanding
FRational Expressions

Rasyonel ifadeler carpim durumunda sadelestirilebilir.
Rational expressions can be simplified in multiplication case

XeV
}'d

o Toplam ve fark durumunda sadelestirilemez.

=X

Cannot be simplified in case of total and difference.

XEY 4
y/
> L: X-a veya L:.&_(:al dir.
y -a y y-(-a)
(@) -a)

Genisletme durumunda pay ve payda ayni sayi ile garpilir.

In the case of expansion, the numerator and denominator are mul-
tiplied by the same number.

o B4 24 O t4-3+3=14
6 8 9

| /
w84 15788 4

2 45 2f

3
.ﬂ_él_<ﬂ>=7_3+13=17
13

o

3_3-10_3

Rasyonel Sayilarda Operation with Rational
islem Numbers

1. Toplama - gikarma: (Addition - subtraction):
X 4,z _ xtFz-y

y ot y-t

(&)}
—
o
o

3. Bolme iglem: (Division operation)

a,c_ad_a.d

b 'd b c b-c

o+ 1.8 2 1 2, 3_8 15_28
2 3 6 6 6 5 4 20 20 20
@B @ @

=
=
;
|
|
|
=




1/

. 45-12 + 140 _ 173

3 1+7

4 5 3 60 60

(15) (12) (20)

7 w8 _113_8 6 7 42

5(91,4/?5 2.2.5 20 5 11 55
8% 2

15 5 15 8 3.2 13 26 18 17

22 222 e — 2 =

4787 4 54 11 51717 51 26

Sira Sizde [t Is Your Turn
1. 12Ty
7
2 15+5=?
5
g, lai+11_,
11
4 225-15  169+13 _,
15 13
5. 1+i>-<1+l-1+—j—-...-1+i=?
2 3 4 41
g, 91-84.51 _,
121713
7. E03 9
3 b
8. —1—+i+l—?
2 3 5
9. (A_3}.(2_1\_,
5 4 7 6
10, 8=C1 .5-2_9
5-(+1)
11. 5%:572=7

TEMEL KAVRAMLAR
BASIC CONCEPTS
3
12
- =7
13. i
14
44, 1858 &9 5
5 10 5 12
2
15. _ 5 __2 _,
4 5
4
1)15 2) 4 3)12 4) 28
2 31
5) 21 147 4 g) =L
) 6) T )30
1 5 _25
9) o5 10) 10 11)5 12)-%
1 1 17
13) — 14) - 15) - ——
)3 )3 T
Denkdem Goame

Denklem ¢oziimiinde bilinen sayilar esitligin bir tarafina, bi-
linmeyen x 'li ifadeler esitligin diger tarafina isaret degistiri-
lerek gonderilir. Her iki taraf bilinmeyenin katsayisina balii-
nir.

The known numbers in the equation solution are sent to one side of
the equation, and the unknown x expressions are sent to the other
side of the equation by changing the sign. Both sides are divided by
the coefficient of the unknown

e 5x-7=3x+3 = 5x-3x=3+7
2x=10 = x=5

6(x+2)=4x+5=>6x+12=4x+5
6x—4x=5—‘|2:>2x=—-7:>x=%

03=£:>a-d=b-c

b d

o 2. X S5.x=2.20 = Bx=40

5 20
x=8

. 3"‘31 =%:> ~3(x+2)=5(x-1)
-3x-6=15x—-5

-6+5=15x+3x

-1
-1=18x X=r—
= X" 7g




052432 =— 4 —
25 9 225

iki Kare Farki

Mutlak Deger

TEMEL KAVRAMLAR
BASIC CONCEPTS

aER, neNt

e a"=a-a-a- ... -a

e x#0 = x%=1 = 0¥=0
-1 1
o B
X y X X

o 3°=3.3.3.3.3=243

5%-42+119=125-16+1 =110

2\%_(5\3_58% 125
5 2 23 8

1.1 _9+25_ 34

© (25

(-972#(-5%
o (~10)2-(-10% =100 - (- 100) = 100 + 100 = 200

e 122 -52=(12 + 5)+(12-5)

e X2=1=(x-1).(x+1)

o (8-x)-(8+x)=8%2-x?

T 225

Difference of Two Squares

a?-b%2=(a-b)-(a+b)

a2-9=2a’-32=(a-3)(a+3)

9x2 — 25y2 = (3x)2 = (5y)%> = (3% — 5y)-(3x + 5Y)

Absolute Value

Sayilarin sifira uzakhgina mutlak deger denir.

Mutlak degerin ici negatif ise disar (=) ile carpilarak ¢i-

karilir.

The distance of numbers from zero /s called absolute value.

If the inside of the absolute value Is negative it's sublracted by

out multiplying by a nminus.

—X 0
o |-2]= 3]
3 =3
o |-5|=-(-5=+5
o |-5-7+3|=]-9|=+9

e |2-V5|=-2+5

+X

o|3—w/§|=3—\/§
o |-5+5|=]0]=0

A\

It Is Your Turn

Answer

Sira Sizde
1. 7x-5=9 =x=7
2. -3%+5=-13 =>x=?
3. 5x-1)=2(x+1) =>x=7?
4. (-5-4)x+6=-12 =>x="7
B. %= 58 =X=17
5 B0
6. Xi1=5 =x=2
2
As 1+i=1 =>xX="7
3 2 2
g 3X=5_2x+3 _ . _,
3
9. 34+3%-5"=7
~1 =
10. (3) +(i> 9
4 3
11. 224+32=7
2
12, 100-16x7 _,
10 —4x
2 2
13. 199° — 201 -9
20
14, ||-3| - |-5]-9| =2
15, |-4] + |7-3] +|-1] =2
Cevaplar
1)2 2)6
5)6 6)8
9) 85 102
12
13)-2 14) 11

74
3)— 4)2
i )29
7)9 8) —
) )2
1‘I)E 12) 10 + 4x
36
15)9

i
:
i
1




4.

-5+7-9+11="?

A) -4 B) 0 C)2 D) 4

-10-(-5)+12="?

A) 27 B) 7 Gy =7 D) -17

~(-7-@)-(-3="?

A) -8 B)-1 O D)6

E)6

E)6

E) 14

6.

-10-15-9-8="?

A) 42

[5--3)]-[-6+¢2]=?

A8

B) 21

B)6

C) -7

C)-8

D) - 21

D) -16

[-1-2-3]-[+1+2+3]="2

8.

& vt.,)A) =1

B) -6

0o

D)6

(- 99 + 101) — (- 101 + 99) = ?

A) —400

B) 400

0)o

D) 4

E) -42

E) 16




TEMEL KAVRAMLAR o0
e AN\  Y6s

9 (-5)-4-4=7 13 =91 , 169 _39) 3.,
’ 13 13 13 '
A) 24 B) 16 C)-13 D) -16 E) -24 A) -8t B) 27 )9 D) -9 E)-27
10. (-3)(-2)+6=2 14. (-10+10-10 + 10): 10 -10="?
A0 B) 12 C)-6 D) 11 E)-12 A)O B) 10 C) 100 D) -9 E)-10
;) 11. (-1-3)-2-4)-56=17 15. (17) + (- 7):3 - (- 12)-2

> A)38 B)30 C)-22 D)-18 E)-38 b s B g giis  Dy-zd’ B2 o

=) 12. (-20): (-5)+4-3=2 16. 15: 5.2-12: (-4) =7

. A) -3 B) 0 05 D)3 E) -5 A)5 B) 9 C) 4 D)8 E)3

o
= 1-C 2-D 3-B 4-D 5-E 6-E 7-A 8-D 9-E 10-B 11-C 12-C 13-D 14-A 15-C 1 6—Bm
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10.

11.

12.

Aylik %1,5 faiz ile bankaya yatirilan 2000 TL 2 yilda
kag lira faiz getirir?

2000 TL deposited in the bank with 1.5% monthly interest, how
much interest will you earn in 2 years?

A) 60 B) 360 C) 480

D) 540 E) 720

5000 liranin bir kismi yillik %20 den, kalan kismi ise yil-
lik %40 tan bankaya yatiriliyor.

5 yil sonra 8500 TL faiz getirisi varsa %20'den kag TL
faiz bankaya yatirilmigtir?

Some of the 5000 lira is deposited at 20% annually and the re-
maining 40% annually. If there is an interest income of

8500 TL after 5 years, how many TL interest from 20% has be-
en deposited in the bank?
A) 3500 B)3000 C) 2000

D) 1500  E) 1000

Giinliik repo faizinin binde 2 oldugu bir bankaya 20
giinliigiine yatirilan 60000 TL kag TL faiz getirir?
How many TL of 60000 TL will it bring to a bank with a daily
repo rate of 2 per thousand?

A) 240 B) 360 C) 1800

D) 2400  E) 3600

Yillik %40 faiz oraniyla bankaya yatirilan bir miktar
para kag ay sonra kendisinin %’i kadar faiz getirir?

How many months after a sum of money deposited in the bank
with an annual interest rate of 40% yields 2 \ 5 interest?

A) 4 B) 6 C)8 D) 10 E) 12

1-D 2-C 3-C 4B 5-B 6-E 7D 8-B

13.

14.

15.

16.

YUzZDE PROBLEMLERI
PROBLEMS

Bir Glkede yilin ilk 6 ayinda enflasyon %10 ikinci 6 ayin-
da enflasyon % 30 dur.

Bir kiginin yil sonunda maasinin deger kaybetmeme-
si icin maasina en az % kac¢ zam yapilmahdir?

In a country, inflation is 10% in the first 6 months of the year
and 30% in the second 6 months. What is the minimum incre-
ase in salary of a person so that his salary does not lose va-
lue at the end of the year?

A) 60 B) 50 C) 43

D) 40 E) 37

Yillik %20 bilesik faiz ile bankaya yatirlan 2000 TL
nin 2 yil sonunda getirdigi faiz kag TL dir?

What is the interest of 2000 TL deposited in the bank with an
annual compound interest of 20% at the end of 2 years?
A) 880 B) 800 C) 440

D)400  E) 360

Bir lilkede benzin fiyatlarina pes pese 3 yil %30 zam
yapilirsa ti¢ yil sonunda benzine % kag¢ zam yapilmig
olur?

If gasoline prices are increased by 30% for 3 consecutive ye-
ars in a country, what would be the increase in gasoline at the
end of three years?

A) 219,7

B)120  C)112,6

Yiliik %30 faiz oraniyla bankaya yatirilan bir miktar
para 30 ay sonra kendisinin ka¢ kati kadar faiz geli-
ri getirir?

An amount of money deposited in a bank with an annual inte-
rest rate of 30% will generate interest income in 30 months as
much as itself?

A) 1 B) 2 0 %

3 4
D) = E) —
)4 )5

12-E 13-C 16-D




YUZDE PROBLEMLERI
PROBLEMS

Bir terzi bir kumasin metresini x liradan satarsa m lira
kar ediyor. Metresini y liradan satarsa n lira zarar ediyor.

Buna gére bu kumas ka¢ metredir?

If a tailor sells x lira per meter of fabric, he makes a profit of
m lira. If he sells his mistress for 1 lira, he will lose n lira. How
many meters is this fabric accordingly?

Bir siniftaki erkeklerin sayisinin kizlarin sayisina orani
s tir.

5

Erkeklerin %40' futbol oynadigina gére futbol oyna-
mayan erkeklerin sayisi tiim sinifn ylizde kagidir?
The ratio of the number of boys to the number of girls in a
classis 2\ 5.

A m-n B) X—y o) mx — my Since 40% of men play football, what percentage of men do
X—y m-n n-y not play football?
mx —ny m+n
D)— E)
= X—y py 120 p 10 10 %0 g 80
7 7 7 74 7

A TL'nin %m'den 6 yilda getirdigi faiz % TL'nin %n'den
4 yilda getirdigi basit faize esgittir.

Buna gére, m'nin n tiirliinden degeri nedir?
The interest that A TL brings at m% in 6 years is equal to 7A /
2 TL's simple interest from n% in 4 years. So what is the value

of mof type n?

Bir gezi grubundaki bayanlarin sayisi erkeklerin sayisi-
nin %60'tr.

Bu grupta bulunan erkeklerin sayisi 30'dan fazla ise
bayanlarin sayisi en az kagtir?

The number of women in a travel group is 60% of the number
of men. If the number of men in this group is more than 30,
what is the minimum number of women?

A) 21 B) 24 C) 27 D) 30 E) 33

X sayisl y sayisinin %32'si, y sayisi z sayisinin %40' dir.

Buna gére, x sayisi z sayisinin yiizde kacidir?
The x number is 32% of the y number and the y number is 40%
of the z number. So what percentage of the x number is z?

A)15  B)14 C)136 D)128  E)11,6

A torbasindaki toplarin %70 mavi B torbasindaki top-
lann %40'1 mavidir.

Bu iki torbadaki toplam toplarin %60'1 mavi oldugu-
na gére, A torbasindaki top sayisinin B torbasindaki
top sayisina orani nedir?

70% of the balls in bag A are blue and 40% of the balls in bag
B are blue. Since 60% of the total balls in these two bags are
blue, what is the ratio of the number of balls in bag A to the
number of balls in bag B?

A) 4 B) 3 C)2 D) 1 E)—;—

Bir siniftaki kiz 6grencilerin sayisinin %36'si erkek 6gren-
. 3 —

cilerin sayisinin Vi ine esittir.

Bu sinifta en az kag 6grenci vardir?

36% of the number of female students in a class equals 3\ 5

of the number of male students. At least how many students
are there in this class?

Bir satici sattig Grlinlere %30 indirim yapinca satiglarin
%40 arttigini gérayor.

Buna gére saticinin kasasina grine para yiizde kag
degismistir?

When a seller makes a 30% discount on the products he sel-
Is, he sees that sales increase 40%. Accordingly, how many
percent of the gray money has changed in the seller's coffers?

A) %2 artar B) %4 artar C) %2 azalir
D) %4 azalir E) %5 artar
A) 2% increase  B) 4% increase C) 2% decrease

D) 4% decrease E) 5% increase
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10.

11.

12.

Bir depoda bulunan elma ve armutlarin toplam miktari
20 tondur. Elmalarin %12'si armutlarin %18'i bozulmus-
tur.

Bozulan elma ve armut miktari, 3 ton olduguna gére,
depoda kag ton saglam armut vardir?

The total amount of apples and pears in a warehouse is 20
tons. 12% of apples and 18% of pears are spoiled. Since the
spoiled apple and pear amount is 3 tons, how many tons of
solid pears are in the warehouse?

A) 7,8 B) 8,8 C)11,2

D)135  E)13

iki ses 6lglim cihazinin bulundugu bir yerde 1. cihaz %10
fazla ll. cihaz %15 fazla olarak sesi 6lglip iletmektedir.

I. cihazla élciilen ses 132 desibel ve II. cihazla 6lgii-
len ses 310,5 desibel olarak élciiliiyor ise bu sesle-
tin dogru él¢iimlerinin toplami kag desibeldir?
Where there are two sound measuring devices |. device 10%
more than Il. The device measures and transmits 15% more
sound. The sound measured with the I. device is 132 decibels
and 1. If the sound measured with the device is measured as
310.5 decibels, what is the sum of the correct measurements
of these sounds?

A) 400 B) 390 C) 380

D)370  E)360

Bir bankaya 20 ayligina yatirilan paranin kendisi ka-
dar faiz getirmesi i¢in uygulanarak yillik faiz orani
yiizde kactir?

What is the annual interest rate applied to a bank for 20 mont-
hs to bring interest as much as itself?
A) 80 B) 70 C) 60

D) 50 E) 40

Bir satici elindeki malin énce %60'in1 sonra kalan malin
%60'In1 satmigtir.

Buna gére satici malinin yiizde kagini satmistir?

A seller first sold 60% of the goods and then 60% of the rema-
ining goods. Accordingly, what percentage of the goods did
the seller sell?
A) 96 B) 90 C)84

D) 75 E) 60

1-E 2-C 3-A 4D 5-A 6C 7-E 8-C

13.

14.

15.

16.

YUZDE PROBLEMLERI
PROBLEMS

Bir mal %60 karla satiimaktadir.

Maliyet %20 artirilir ve satig fiyati sabit tutturulursa
kar orani % kag olur?

A good is sold with 60% profit. If the cost is increased by 20%
and the sales price is fixed, what will be the profit rate?

A) 40 B) 33,3 D) 27,3

C) 30 E) 24

Bir sayinin %24 'iniin 12 eksigi ayni sayinin %15'in-
den 15 fazla ise bu sayi kactir?

If the 12 minus of 24% of a number is more than 15% of the
same number, what is this number?

A) 90 B) 180 C) 240

D) 300 E) 360

Bir sayinin %20 'sinin 4 fazlasinin karekdky bir tam sayi-
drr.

Bu durumda bu say1 asagidakilerden hangisi olabi-
lir?

The square root of 20% plus 4 of a number is an integer. So
which of the following could this number be?

A) 125 B) 180 C) 200

D)225  E)250

Bir calisan maasinin %40'Ini ev kirasina veriyor. Galiga-
nin maasina %12 zam geliyor ve evin kirasi %40 zamla-
niyor.

Son durumda bu ¢alisan maasinin % kacini kiraya

verir?

B) 50 C) 48

12-C 13-B




KARISIM PROBLEMLERI -
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= Karigim Problemleri Mixing Problems AR AL

Seker orani %20 olan 40 litre seker-su karigimina kag
litre geker eklenirse olusan karigsimin geker orani %50
olur?

% 40 lik alkol-su karigimi demek % 40'1 alkol, % 60"t

su demektir. How many liters of sugar is added to 40 liters of sugar-water

mixture with a sugar ratio of 20%, and the sugar ratio of the

Karigim 100 gram ise 40 grami alkol, 60 grami su- resulting mixture will be 50%?

= dur.

40% alcohol-water mixture means 40% alcohol and 60% ¢HzUM SOLUTION
water. If the mixture is 100 grams, it is 40 grams of alco-

hol and 60 grams of water.

%50 seker
40 litre &  xlitre 40+x i
s SV G Lo =

A maddesinden a gram B maddesinden b gram alina- A B (s
rak elde edilen karigimdaki A maddesinin ylizdesi
Percentage of substance A in the mixture obtained by ta- A kabindaki seker ile B kabindaki seker miktarinin top-
king b grams from a gram of substance B from substan- lami C kabindaki miktari verir.
ce A The sum of the sugar in container A and the sugar in contai-

a+b gramda ( 7agmem A ner B gives the amount in container C.

A 20 100 50
. 7N A0t X ——=—— (x+40

100'de X 100 ¥ 00 700 40
Dogru oranti Correct proportion 80 + 10x = 200 + 5x
yardimiyla x-(a + b) = 100-a S5x =120

X =24 litre olur.
with the help of x. (a+b) = 100. a

of 60 grams of substance B from substance A is from subs-

100-a 100-a
X= olur. X = happens. i 1
a+b a+b ORNEK EXAMPLE: |
%25'i alkol olan 40 litrelik alkol-su karigimi ile % 35'i
alkol olan 60 litre alkol-su karistiriidiginda olusan ka-
nsimin alkol orant yiizde kag olur?
SRbiic " What is the percentage of alcohol in the mixture formed when
e 40 liters of alcohol-water mixture, 25% alcohol, and 60 liters
A maddesinden 60 gram B maddesinden 90 gram alcohol-water, 35% alcohol, are mixed?
alinarak elde edilen karisimin yiizde kag A madde-
SIESaHTIFS GOZUM SOLUTION -
What percentage of the mixture obtained by taking 90 grams

tance A?

¢0zUM soLuTION

90 + 60 gramda 60 gram A E

100 'de X A ve B kaplarindaki alkol toplami, C kabindaki alkol mik-
tarina esittir. =
Dogru oranti 40.25 60-35 100-x |
4 =
100 100 100
(90 + 60)x = 100.60
6000 100 + 210 = 10x
=——=40 % 40'1 A maddesidir.
150 x =31 olur.

% 31 'i alkol olur.

489
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ORNEK EXAMPLE:

%20 si seker olan 60 litre seker-su karigimindan kag
litre su buharlastirilirsa olusan karisimin gseker ora-
ni %50 olur?

How many liters of water is evaporated from 60 liters of su-
gar-water mixture, 20% of which is sugar, will the sugar ratio
of the resulting mixture be 50%?

¢OzUM SOLUTION

%50 seker

|

|
|
{
|
)

60 - x
Gl
Karisim Buharlagsan Kalan
su karigim
60-20 x-0 (60-x)-50
100 100 100
60-20 (60 -x)-50
100 100
60-2 = (6x—X)5
120 = 300 - 5x
180 = 5x
36=x
ORNEK EXAMPLE:

Tuz orani %40 olan tuz-su karisimi ile tuz orani % 20
olan tuz-su karnsimi karistirildiginda olusan karisim
60 litre tuz orani %25 olduguna gére, %40 lk tuz-su
karigimi kag litredir?

When the salt-water mixture with a salt ratio of 40% is mixed
with the salt-water mixture with a salt ratio of 20%, how many
liters of the 40% salt-water mixture is, since the salt ratio of 60
liters is 25%?

¢OZUM SOLUTION

‘ %40 tuz l
: |+
|
) &

%20 tuz

1. kaptaki tuz miktari ile 2. kaptaki tuz miktari toplami
birlesimdeki tuz miktarina esittir.

x-40  (60-x)-20 _ 60-25
100 100 100

4x + 120 - 2x =150 ve x =15 litre

KARISIM PROBLEMLERI
PROBLEMS

ORNEK EXAMPLE:

Tuz orani %40 olan x litre karigim ile tuz orani %30
olan x litre karisimin karigtiriimasiyla olusan karigi-
min tuz orani ylizde kagtir?

What is the salt ratio of the mixture formed by mixing x liter
mixture with a salt ratio of 40% and x liter mixture with a salt
ratio of 30%?

¢OZUM SOLUTION

Miktarlar esit

40 + 30

Yeni ylizde =
2

=35

% 35 'i tuz olur.

ORNEK EXAMPLE:

Tuz orani %40 olan 60 litre tuz-su karigiminin yarisi
dokiiliip yerine ayni miktar saf su eklenirse olugan
karisimin tuz orani yiizde kag olur?

If half of the 60 liters salt-water mixture with a salt ratio of 40%
is poured and the same amount of pure water is added inste-
ad, what percentage of the salt is the resulting mixture?




KARISIM PROBLEMLERI oo
PROBLEMS \\ YOS

¢OzUM SOLUTION

60 litrenin yarisi 30 litre ve tuz orani %40

Half of 60 liters is 30 liters and salt content is 40%

R

60

Litre . Saf su Litre

30-40 30-0 _ 60-x |
100 ~ 100 100
120 = 6x

20=x

Yeni tuz orani % 20 olur.

ORNEK EXAMPLE:

Seker orani % 40 olan 60 litre seker-su karisimina 25 lit-
re su 15 litre seker ekleniyor.

Olusan karigimin yeni seker orani yiizde kag olur?

25 liters of water and 15 liters of sugar are added to 60 liters

of sugar-water mixture with a sugar ratio of 40%. What is the “
new sugar rate of the mixture? i

¢OZUM SoLUTION

%100 seker
l
oy e

o)

karistirilinca

100 litre ve seker orani % x olur. ‘ ‘
60-40 5 25-0 £ 15.100 _ 100-x
100 100 100 100

60-40+15-100=100-x ‘

24 +15=x }
x=39

% 39 'u seker

497
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| TEST 01

[/

Tuz orani % olan 60 gr tuzlu su ile tuz orani % olan 90

gr tuzlu su karistiriliyor.

Yeni karisimin tuz yiizdesi nedir?

60 grams of salt water with a salt ratio of 7\ 4 is mixed with
90 grams of salt water with a salt ratio of 2 \ 5. What is the
salt percentage of the new mixture?

Seker orani %40 olan sekerli su karisimindaki suyun 30
grami buharlastinlirsa seker orani %50 oluyor.

Karisimda kag gr seker vardir?
If 30 grams of water in the sugar water mixture with a sugar
ratio of 40% is evaporated, the sugar ratio becomes 50%. How
many grams of sugar are in the mix?

A) 250 B) 200 C) 150 D) 60 E) 75

%30'u seker olan 30 litre sekerli suya 15 litre seker
ve 5 litre su katilirsa, seker yiizdesi ne olur?

If 15 liters of sugar and 5 liters of water are added to 30 liters
of sugar water, which is 30% sugar, what will be the sugar per-
centage?

A) 72 B) 56 C) 50 D) 48 E) 40

%20'si seker olan 300 gr sekerli suyun % 'i buharlastiri-

larak yerine ayni miktarda %40'lik sekerli su konuluyor.
Son durumda seker orani % kactir?

—;~ of 300 g of sugar water, 20% of which is sugar, is evapora-
ted and replaced with the same amount of 40% sugar water.

What is the sugar rate in the last case?

Tuz orani %24 olan tuzlu suyun ) ' dékultp dékalen
miktar kadar tuz orani %30 olan baska bir tuzlu su ekle-
niyor.

Son durumda tuz yiizdesi kag olur?

% of the brine with a salt ratio of 24% is poured and another
brine with a salt ratio of 30% is added. What is the salt percen-

tage in the last case?

Kilogram fiyati 30 lira olan a kg ¢ekirdek ile kilogram fi-
yati 20 lira olan b kg cekirdek karistiriliyor.

Son durumda karisimin fiyati 24 lira ise 2 orani kag-
r? B
A kg kernel with a kilogram price of 30 liras is mixed with b kg
kernel with a kilogram price of 20 liras. In the last case, if the
price of the mixture is 24 lira, what is the -Z— ratio

4 3 2 3 4
A= B) = )= D)= E)—
)5 )2 )3 )% )3

Bir havuzu %40'Ik tuzlu akitan musluk 15. saatte %25'lik
tuzlu akitan musluk 12 saatte dolduruyor.

Havuz bosken iki musluk ayni anda aciliyor 5 saat
sonra havuzdaki tuz orani % kag olur?

The faucet with 40% salt fills a pool in 15 hours, with 25% sa-
line in 12 hours.

When the pool is empty, two taps are turned on at the same
time. What is the salt ratio in the pool after 5 hours?

Agirhikta %20'si seker olan 50 kg'lik un seker karigi-
seker

un

mina 5 kg daha un eklenirse yeni karigimin
orani nedir?

If 5 kg more flour is added to the 50 kg flour-sugar mixture,
20% sugar by weight, what is the sugar-flour ratio of the new

mixture?
A) a1 B) 3 C) 4 D) 3 E) 2
2 5 13 11 9
4-A 5-A 6-A




KARIS|

M PROBLEMLERI

PROBLEMS

10.

11.

12.

4 kg

_ tuzlusu
~— 4

B kabi

A daki karisimin %20'si B kabina alinarak karigtirili-
yor ve sonra B'deki karisimin %40' alinarak A kabi-
na geri dokiilliyor ise son durumda A'daki karigimin
tuz yilizdesi kagtir?

If 20% of the mixture in A is mixed into container B and then
40% of the mixture in B is taken and poured back into contai-
ner A, what is the salt percentage of the mixture in A in the last

case?
A)ﬂ B)g 0)11_ D)E E)4—1
3 3 3 3 3

Bir havuzu %20'lik tuzlu su akitan bir musluk 8 saat-
te %25 tuzlu su akitan bagka bir musluk 12 saatte
doldurabiliyor ise bos olan bu havuzu musluklarin
ikisi ayni anda birlikte agilarak dolduruldugunda ha-
vuzdaki suyun tuz yiizdesi kag¢ olur?

If a tap with 20% salt water can fill a pool in 8 hours and ano-
ther tap with 25% salt water in 12 hours, what is the salt per-
centage of the water in the pool when both taps are turned on
at the same time and filled?

A) 23,5 B) 23 C) 22

D)225  E)21,5

Agirlikga %30 tuz olan 200 gram tuzlu su karigiminin
50 grami dékiliyor, dokilen miktar kadar tuz'ilave
edilirse son durumda karisimin yiizde kag tuzdur?

50 grams of 200 grams of salt water mixture, which is 30%
salt by weight, is poured, if the amount of salt is added, what
percentage of the mixture is in the last case?

A) 50 B) 47,5 C) 60 D) 62,5 E) 70

Tuz orani %25 olna 100 litrelik tuzlu suya, karigimdaki su
miktar kadar tuz ekleniyor.

Son durumda elde edilen yeni karisimin tuz yiizdesi
kactir?

If the salt ratio is 256%, salt is added to 100 liters of salt water
as much as the amount of water in the mixture. What is the
salt percentage of the new mixture obtained in the last case?

N30 g 3 paw 32
7 9 11

1-D 2-D 3-D 4-A  5-A 6-C 7-C 8-E

13.

14.

15.

16.

9-B

YOS

A kg seker, B kg su karistiriliyor.

Bu karisimin agirlikca % kaci sudur?
A kg of sugar and B kg of water are mixed.

What% by weight of this mixture is water?

100 B) 100A A+B
A+ B A+B 100A
100B A+ B
A+B 100B

A)

%40' tuz olan 60 litre tuzlu suyun tuz oranini %60 ¢i-
karmak igin karigimdaki suyun kag litresi buharlagti-
rilmahdir?

How many liters of water in the mixture should be evaporated
in order to extract 60% the salt content of 60 liters of salt wa-
ter, 40% salt?

Seker orani %40 olan 150 gr sekerli su karisimina 10 gr
seker 40 gr su ekleniyor.

Son durumda elde edilen karigimin yiizde kagi su-
dur?

10 grams of sugar and 40 grams of water are added to 1560
grams of sugar water mixture with a sugar ratio of 40%. In the
last case, what percentage of the mixture is water?

Tuz orani %20 olan 15 kg tuzlu su ile seker orant %30
olan 60 kg sekerli su karistiriliyor son durumda kari-
simin tuz oram yiizde kactir?

15 kg of salt water with a salt ratio of 20% is mixed with 60 kg
of sugar water with a sugar ratio of 30%. In the last case, what
is the salt ratio of the mixture?
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TEST 02

Tuz orani %20 olan 50 gr tuzlu su ile su orani %40 olan
150 gr tuzlu su kanistiriliyor.

Buna gére, son durumda tuz yiizdesi kactir?
50 grams of salt water with a salt ratio of 20% is mixed with
150 grams of salt water with a water ratio of 40%.

So what is the salt percentage in the final case?

A) 35 B) 40 C) 45 D) 60 E) 50

Seker orani %m olan x litre sekerli suya y litre saf su ek-
leniyor.

Elde edilen yeni karigimin seker orani yiizde kagtir?
Y liters of pure water is added to x liters of sugar water with a
sugar ratio of m%. What is the sugar rate of the new mixture
obtained?

B) ———=—
X+y m(x +vy) mx

%20'si kiz 6grenci olan bir sinifa 10 kiz 6grenci daha ge-
lirse kiz 63renci orani %40 olmustur.

Buna gore, sinif meveudu kagtir?

If 10 more girls attend a class, 20% of which are girls, the ra-
tio of female students is 40%.What is the class size according-
ly?

Agirlikga %40 olan homojen tuzlu su karigiminin % Gal-

narak ayni agirlikta su ekleniyor.

Yeni kanisimin agirhikea % kagi tuzdur?

By taking 2 \ 3 of the homogeneous brine mixture, which is
40% by weight, the same weight of water is added. What% by
weight of the new mixture is salt?

N2 g%l g1 ps g2t
3 3 3
1-A 2-A 3-A

Agirlikga %60'i un olan, un yag kangimindan m kg, %401
un olan baska un yag karisimindan ise n kg alinarak
%55'i un olan bagka bir yeni karisim elde ediliyor.

Buna gére, 1 orani kagtir?
m

1 1 1
A) — B) — C) —
i IS )2

%20'si su olan x litrelik bir karigima 60 litre daha su ila-
ve ediliyor.

Elde edilen yeni karisimin %25'i su olduguna gore,
x kactir?

Another 60 liters of water is added to a x-liter mixture of 20%
water. Since 25% of the new mixture is water, what is x?

A)900  B)600  C)480  D)120  E) 180

Bir fabrika kilogrami 15 TL'den 20 ton A Griin(i ve kilog-
rami 12 TL'den 50 ton B Urlin0 satin alip bu Grlnleri ho-
mojen bir sekilde karistirilip, kg mi 17 TL'den satiliyor.

Buna gore bu iriinler kanstinimadan maliyetlerinin
%20 fazlasina satilsaydilar elde edilecek gelir kag TL
fazla olurdu?

A factory buys 20 tons of A product at 15 TL per kilogram and
50 tons of B products at 12 TL per kilogram, and these produ-
cts are mixed homogeneously and sold for 17 TL per kg.

Accordingly, if these products were sold for 20% more than
their costs without being mixed, how much would the income
be gained?

A) 190 000 B) 290 000 C) 100 000

D)200 000 E) 590 000

Su orani agirlikga %40 olan 25 kg yas Uzim kuruyunca
icindeki su orani %75 azaliyor.

Son durumda iiziimlerin agirhigi kac kg olmustur?
When 25 kg of fresh grapes with a water ratio of 40% dries,
the water content in it decreases by 75%.

What is the weight of the grapes in the last case?

A) 20 B) 17,5 C) 16 D) 15 E) 12,5




10.

11.

KARISIM PROBLEMLERI
PROBLEMS

Ali bir deney yapiyor. Bir miktar karisima her seferinde
karigim kag gram ise o kadar seker ekleyip elde ettigi
karisimdan 3 gram kullaniyor.

Ugiincii seferin sonunda elinde 11 gr karisim kaldi-
gina gore baslangicta Ali'nin elinde kag¢ gr karigim
vardir?

Ali is doing an experiment. He uses 3 grams of the mixture he
has obtained by adding the same amount of sugar to the mix-
ture each time. How many grams of mixture did Ali have in the
beginning since he had 11 grams of mixture at the end of the
third expedition?

A) 8 B) 7 c)6 D)5 E) 4

Ayse bir 6lgl kek icin 4 bardak un veya 2 bardak un ve
1 bardak irmik ile 1 litre siit, 6 adet yumurta kullanmak-
tadir. Ayse 6 bardak un ve 3 bardak irmik kullanarak bir
kek yapmak isterse elinde 1,5 bardak un ve yarim bar-
dak irmik arttigini gérayor.

Bunlari da ihtiyaci kadar kullanan Ayse bu kek igin
ka¢ yumurta kullanmigtir?

Ayse uses 4 glasses of flour or 2 glasses of flour and 1 glass
of semolina with 1 liter of milk and 6 eggs for one measure of
cake. If Ayse wants to make a cake using 6 glasses of flour
and 3 glasses of semolina, she sees that she has 1.5 glasses
of flour and half a glass of semolina in her hand. How many
eqggs did Ayse use for this cake, using them as much as she
needed?

A) 15 B) 18 0) 21 D) 24 E) 27
Alkol(tt)
K
/ L
12
16 °
/
//
/4 - )

Yukaridaki sekilde A ve B kaplarindaki alkol-su karigim-
lar verilmigtir.

K kapindaki karisimdan 50 It ve L kabindaki karigim-
dan 75 litre alarak karistirilirsa son durumda alkol
oram % kactir?

Alcohol-water mixtures in containers A and B are given in the
figure above.If it is mixed by taking 50 liters of the mixture in
K container and 75 liters from the mixture in L container, what
is the alcohol ratio in the last case?

12.

13.

14.

15.

16.

A\

100 gr un ile 20 gr sekerden homojen bir karigim elde
ediliyor.

Bu kansimin 1 graminda kag¢ gram seker bulunur?
A homogeneous mixture is obtained from 100 grams of flour
and 20 grams of sugar. How many grams of sugar are in 1
gram of this mixture?

A o D¢ B

4
6 10

Saf altin 24 ayardir. 22 ayarlik 160 gr altin ise, bir miktar
18 ayarlik altin karistirilarak eritiliyor.

Elde edilen altin 20 ayar ise kagc gr 18 ayarlik altin eri-
tilmistir?

Pure gold is 24 carat. 22 carat 160 gr gold is melted by mixing
some 18 carat gold. If the obtained gold is 20 carat, how many
grams of 18 carat gold has been melted?

A) 240 B) 180 C) 160

D)140  E)120

x kg yogurt, 2 litre su karistinlarak ayran yapihyor.

Bu ayranin yogurt yiizdesi kagtir?
Ayran is made by mixing x kg of yogurt and 2 liters of water.
What is the percentage of yogurt in this buttermilk?

100 B X X+2

X+ 2 X+ 2 100
D) 100x E)X+2

X+ 2 100x

Kilogrami 8 lira olan 15 kg piring ile kilogrami 14 lira
olan kag kg piring karistirilirsa kilogrami 13 liradan
satilir?

If 15 kg of rice with 8 liras per kilogram and 14 kilos of rice are
mixed, how many kg of rice is sold for 13 liras per kilogram?

x gr seker ile y gram undan 4800 gr karisim elde edili-
yor.

y = 4x + 1200

olduguna gore karisimin % kagi sekerdir?
Alcohol-water mixtures in containers A and B are given in the
figure above. If it is mixed by taking 50 liters of the mixture in
K container and 75 liters from the mixture in L container, what
is the alcohol ratio in the last case?
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Her giin cebindeki paranin % iini harcayan Ali'nin

4. giiniin sonunda cebinde 81 lirasi kaliyor ise Ali'nin
baglangicta cebinde kag lirasi vardi?

If Ali, who spends 1/4 of the money in his pocket every day,
has 81 liras in his pocket at the end of the 4th day, how many
lira did Ali originally have in his pocket?

A) 256 B)243  C)128 D) 121 E) 108

2 kalem 3 silgi 4 defter 9,3 TL dir ve 1 kalem 3 silgi 2
defter 4,8 TL ise 1 silgi, kag TL dir?

2 pencils, 3 erasers, 4 notebooks, is 9.3 TL, and 1 pencil, 3 era-
sers, 2 notebooks, is 4.8 TL, 1 eraser, how many TL?

4 yanligin bir dogruyu gottirdtigi 80 soruluk bir sinavda
her net 5 puan getirmektedir. Sinava katilan 6grenci bi-
tln sorularn cevaplamis ve 225 puan almistir.

Buna gére bu dgrencinin dogru cevapladigi soru sa-
yisi kagtir?

In an exam with 80 questions in which 4 mistakes remove a
right, each net brings & points. The student participating in the
exam answered all questions and got 225 points.

Accordingly, how many questions is this student answered
correctly?

Bir oteldeki 45 tane odanin bir kismi 3 yatak bir kismi 4
yatakhdir.

Bu otelde toplam 176 yatak olduguna gére, 3 yatak-
Il oda sayisi kagtir?

Some of the 45 rooms in a hotel have 3 beds and some have
4 beds.

Since there are 176 beds in total in this hotel, what is the num-
ber of rooms with 3 beds?

A3 B) 4 C) 14 D) 20 E) 41

1-A 2-A 3-A

//// =T

KARISIK PROBLEMLER
PROBLEMS

Yusuf'un yagi Salih'in yasinin 4 katidir.

Yusuf'un yasi kendi yasinin gceyregi kadar arttiginda
Salih ile ikisinin yaslari toplami 91 olduguna gére,
Salih'in simdiki yasi kagtir?

Yusuf's age is 4 times that of Salih.

When Yusuf's age increases by a quarter of his age, the sum
of the ages of Salih and the two is 91, what is the current age
of Salih?

A) 7 B) 11 ) 17 D) 13 E) 19

Simdiki yaslari orani %olan iki kardesin yaslari farki 7 dir.

Buna gore, bu iki kardesin kag yil sonraki yaslari
orani 2, 'tiir?

3
The age difference of the two siblings, whose current age ra-
tio is % is 7. How many years later are these two siblings?

a5 2
the ratio is— ?
3

A) 3,5 B) 4 C) 45 D)5 E) 5,5

iki musluk bir havuzun tamamini 15 saatte dolduruyor.
iki musluk aglidiktan 9 saat sonra 3. bir musluk daha ek-
leniyor.

Havuzun geriye kalan kismini lic musluk beraber
4 saatte dolduruyorlar ise liglincii musluk, havuzun
tamamini tek basina kag saatte doldurur?

Two taps fill an entire pool in 15 hours. A third tap is added 9
hours after the two taps are turned on. If three taps fill the rest
of the pool in 4 hours, how many hours does the third tap fill
the entire pool alone?

Eray, Aycan'in 4 kati Murat'n ise yarisi hizda galismak-
tadir.

Eray ve Murat bu igi birlikte 6 saatte yapabildigine
gbre, Eray ve Aycan ayni isi kag saatte yapabilir?
Eray works 4 times faster than Aycan and half the speed of
Murat. Since Eray and Murat can do this job together in 6 hours,
how many hours can Eray and Aycan do the same job?

A) 8 B) 14,4 C) 8,6 D) 6 E) 6,8

4-A 5-A 6-A




KARISIK PROBLEMLER
PROBLEMS

10.

11.

12.

Hizlart 60 km/sa ve 90 km/sa oian iki ara¢ A sehrinden
B sehrine gidiyorlar. Hizi fazla olan arag 3 saat sonra yo-
la ¢ikip 2 saat 6nce B sehrine variyor.

Buna gore, A ve B sehirleri arasindaki mesafe kag
km'dir?

Two cars with speeds of 60 km / h and 90 km / h travel from
city A to city B. The high-speed vehicle sets off after 3 hours
and arrives in city B 2 hours ago.

So what is the distance between cities A and B?

A) 1500 B) 1200 C) 1080 D) 900 E) 720

Bir kosucunun hizinin riizgarin hizina orani 1?4 tar.

Bu kosucu 2550 m mesafeyi riizgarla ayni yonde
5 dakikada kosabiliyorsa kosucunun dakikadaki
hizi kag m dir?

The ratio of the speed of a runner to the speed of the wind is
14/3. If this runner can run 2550 m in the same direction
with the wind in 5 minutes, what is the speed of the run-
ner per minute?

A)542  B)444 C) 348

D)420  E)292

Bir arac 242 km lik bir yolu her saatte hizini igte birine
dUsurerek 5 saatte aliyor.

Buna gore, bu arag yoela ciktiktan 2 saat sonra kag
km yol almistir?

A vehicle can travel a distance of 242 km in 5 hours by redu-
cing its speed to one third per hour. Accordingly, how many ki-
lometers has this vehicle traveled 2 hours after setting off?
A)234  B)216 C) 208

D)196  E)172

Bir satici %20 zararla sattidi bir maldan 180 lira zarar edi-
yor.

Ayni mahi %15 karla satarsa fiyati kag lira olur?

A seller loses 180 lira for a product he sells for 20% loss. If he
sells the same item with 15% profit, what will his price be?

A) 900 B) 960 C) 1080

D) 1035 E) 975

1-A 2-A  3-C 4-B 5-D 6-A 7-E 8-B

13.

14.

AN\  YOs

Alig fiyatr x, satis fiyati y olan bir Griin icin
y =360 + x
bagintist vardir.

%60 kar ile satilan bu iirlin %20 zararla kag liraya sa-
tlir?

For a product with a purchase price x and a sales price of y

y =360+ x

There is a relationship. This product, which is sold with 60%
profit, is sold with 20% loss for

A) 680 B) 640 C) 600 D) 540 E) 480
%0 | %20 %12
160 ml 240 ml 104 ml
tuzlu su tuzlu su tuzlu su
L = s S
A B C

A kabinda tuzlu suyun ceyregi B kabina dékullyor. B ka-
binda kanstirilan bu karnsimin %20'si C kabina dékdiltyor.

Son durumda C kabindaki tuz yiizdesi kactir?

A quarter of the brine in bow! A is poured into bow! B. 20% of
this mixture mixed in container B is poured into container C.
What is the percentage of salt in container C in the last case?
A)17,2  B)162 C)153

D)186 E) 112

15. Bir bakkal satti§i 7 yumurtanin maliyet fiyatina 5 tanesi-

ni satmaktadir.

Buna gore bakkalin bu satistan elde ettigi kar % kac-
tir?
A grocer sells 5 of the 7 eggs it sells at cost price.

Accordingly, what is the profit of the grocery store from this
sale?

A) 37,5 B) 40 C) 45 D) 42,5 E) 35

16. Bir otomobilin % 80 OTV ve %18 KDV'li fiyati

9-D

396.000 TL ise bu otomobilin vergisiz fiyati ka¢ TL'dir?

(OTV=bzel tiiketim vergisi, KDV=katma deger vergisi)
If the price of a car with 80% SCT and 18% VAT is 396,000 TL,
what is the tax-free price of this car?

(SCT = special consumption tax, VAT = value added tax)

A) 180000 B) 200000 C) 210000

D) 280000 E) 320000

|
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// TESTOZ

Bir sinifta 6grenciler siralara 3'er 3'er oturursa 4 6grenci 5.
ayakta kaliyor. 4'er 4'er otururlarsa 3 sira bos kaliyor.

Buna gore, sinifta kag sira vardir?
In a classroom, if the students sit on the desks 3 by 3, 4 stu-
dents stand. If they sit 4 by 4, 3 rows remain empty.

So how many rows are there in the classroom?

A) 18 B) 17 C) 16 D) 15 E) 14

Hayri parasinin % ini Akin'a kalan parasinin % unu Mert'e
veriyor.

Hayri'nin elinde 72 lira kaldigina gére, Akin'a kag li-
ra vermistir?

Hayri gives 2\ 5 of her money to Akin and 1\ 9 of her remai-
ning money to Mert.

Since Hayri has 72 liras left, how many lira did he give Akin?

A) 64 B) 54 C) 48 D) 42 E) 36

Bir deponun % 'i su doludur. Bu suyun % '0 kullanilinca

deponun dolmasi igin 105 litre suya ihtiyag vardir.

Baslangicta depoda kag litre su vardir?
% of a tank is full of water. When % of this water is used,
105 liters of water is needed to fill the tank.

How many liters of water are in the tank initially?

A) 60 B) 50 C) 45 D) 30 E) 36

Degeri % olan kesrin paydasindan 3, payindan 1 ¢i- 8.

karilinca kesrin degeri % oluyor ise bu kesrin pay ve

paydasinin toplami kagtir?

If the denominator of the fraction with a value of 3/13 is subt-
racted by 3 and 1 from the numerator, what is the sum of the
numerator and denominator of this fraction?

A-39 B)-16 C)-24 D)24 E)16
1-A 2-A 3-A

KARISIK PROBLEMLER
PROBLEMS

Bir babanin yas! (¢ gocugunun yaslar toplamindan
20 yas fazladir.

4 yil sonra babanin yasi gocuklarin yaslari toplami-
nin iki katindan 30 eksik olduguna gore, baba bugiin
kag yasindadir?

A father's age is 20 years older than the total of his three child-
ren. How old is the father today, 4 years later, since the age of
the father is less than twice the age of the children?

Bir ailede bitlin bireylerin yaslar toplami 150 dir. 5 yil
Onceki yas ortalamasi 20 dir.

5 yil iginde birey sayisinda degisiklik oimadigina gé-
re ailede kag birey vardir?

The total age of all individuals in a family is 150. The average
age 5 years ago is 20.

Since there has been no change in the number of individuals
in 5 years, how many members are in the family?

A8 B) 7 C) 4 D)5 E) 6

Miray ile Alya'nin yaslan toplami 41'dir. Miray, Alya'nin
yasina geldiginde ikisinin yaslar toplami 67 oluyor.

Buna gére, Alya'nin simdiki yasi kagtir?
Miray and Alya's combined age is 41. When Miray reaches Al-
ya's age, the two of them are 67 years old.

So what is Alya's current age?

A) 32 B) 29 C) 27 D) 23 E) 20

30 is¢i bir isin % iinli 15 glinde bitiriyor igin geri ka-

lanini 9 giinde bitirebilmek igin, ayni kapasiteli kag
ig¢i daha eklenmelidir?

30 workers finish 1/3 of a job in 15 days How many more wor-
kers with the same capacity should be added to finish the rest

in 9 days?
A) 100 B) 90 C) 80 D) 75 E) 70
4-A 5-A 6-A




KARISIK PROBLEMLER
PROBLEMS

10.

11.

12.

Furkan 5 glinde 6 masa, Emel 2 giin de 5 masa boya-
yabilmektedir.

ikisi birlikte 74 masay kag giinde boyarlar?
Furkan can paint 6 tables in 5 days, and Emel can paint & tab-
les in 2 days.

In how many days do they paint 74 tables together?

A) 10 B) 12 C) 15 D) 18 E) 20

Ali, Veli'nin 2 kati hizla, Veli'de Ayse'nin 3 kati hizla calis-
maktadir.

Ucti birlikte bu isi 12 giinde bitirebiliyor ise Ayse tek
basina bu isi kag giinde bitirir?

Ali works twice as fast as Veli and 3 times faster than Ayse in
Veli. If the three of them can finish this job in 12 days, how
many days will Ayse finish this job alone?

A) 120 B) 84 C) 60 D) 56 E) 72

Bir arag bir yolu 75 km/sa hizla x saatte, 125 km/sa hiz-
la y saatte gidebiliyor.

Ayni yolu (x + y) saatte kag km hizla gidebilir?
A vehicle can travel a road at a speed of 75 km / h in x hour,
and at a speed of 125 km / hin y hours.

How many kilometers per hour can it travel the same road (x
+y)?

A) 46,875 B) 42,5 C) 44,225

D) 48,5 E) 51,275

Bir siiriicii A kentinden B kentine 70 km/sa hizla gi-
dip 130 km/sa hizla geri donerse, gidis doniisteki or-
talama hizi ka¢ km/sa olur?

If a driver travels from city A to city B at 70 km / h and returns
130 km / h, what will his average round trip speed be?

A) 90 B) 91 C) 92 D) 96 E) 100

1-C 2-B 3-A 4-B 5-A 6-E 7-C 8-E

13.

14.

15.

16.

9-E

AN\  YOs

A 220 km B

4
d

—>

—
V, 110 km/sa V, — 70 km/sa
A ve B noktalarindan ayni anda ayni yéne hareket
eden iki arac kag saat sonra yanyana gelir?
After how many hours will two vehicles moving in the same
direction from A and B points at the same time come toget-
her?

A) 11 B) 9 075 D)55 E) 4

1200 sayisinin %0,4'0 kagtir?
What is 0.4% of the number 12007

A) 300 B) 30 C) 48 D)6 E)4,8

%30 karla sattigi bir malda satis fiyati lizerinden %20
indirim yapan bir satici 28 lira kar ettigine gére, bu
malin alig fiyati kag liradir?

Since a seller who makes a 20% discount on the selling price
of a product he sells with 30% profit makes 28 TL profit, what
is the purchase price of this good?

A) 880 B) 800 C) 700

D)560  E)490

Seker orani %40 olan 200 gr sekerli su karigiminin %25'
dékuliyor. Dokilen miktarin 2 kati kadar %20 oraninda
seker bulunduran baska bir sekerli su karigimi ekleniyor.

Son durumda seker yilizdesi kagtir?

25% of the 200 g sugar water mixture with 40% sugar content
is poured. Another sugar water mixture containing 20% sugar,
2 times the amount poured, is added.

What is the sugar percentage in the last case?

10-A 11-A 12-B 13-D T14-E 15-C




1.
3 bardak
3 glasses
+
A tane bardak
a glasses
A kactir? What is a?
A) 10 B) 12 C) 14 D) 6 E) 18
2.
i hcm
‘ 4. Ay Sonu
" rhy+10cm
olduguna gore, X kagtir? What is x?
A5 B) 6 C)7 D) 8 E)9
3. Y AdA
LEg 288 |
2x Kalem
X X

Ve it

ke e oane PR
t4 t 24+ + 34 + 35 + 35 + -+ $5=1620
olduguna gore, x kactir? What is x?

A)180  B)140 C)120 D)210  E)240

4. Uriinler Kg Fiyati  products kg price
Findik 1530 hazelnut
Badem : 540 almond
Ceviz 1 40 walnut
Fistik 560 peanut
Stiper Karisik TBx super mixed
<arisi
4 k 3 k 2 k 1k =
Flndgi’k * F|stﬁ< Badgm & Cevigz 5
hazelnut- almond- walnut - peanut -super mixed
olduguna gére, x kagtir? What is x?
A) 38 B) 40 C) 42 D) 44 E) 46

5.
%40 Tz 1 Saat sonra
- 5 40 kg Su-Tuz
ise, x kagtir? What is x?
A) 45 B) 50 C) 55 D) 60 E) 65
6. 120 cm 3 dk 60cm 20cm 10cm 30cm

sonra

) ——C

160 cm ;gn?'g 15cm +20cm+...12cm = 160 cm
( ] —— [ ] &= --- 3
X parca
x kagtir? What is x?
A) 8 B) 9 C) 10 D) 11 E) 12
4-A 5-A 6-A






